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No H 5| HAL H%E*H 5H12H 8A4H §1oﬂ28E|§ 2H28 |5H12H 8A4H §1oﬂ28E|§ 2A2H
11,3-v 7 v u 7w~ (-D) mg/1| 0.05 - - - - <0.0005 :<0.0005 @ - -
2|2, 4-D (2, 4-PA) " 0.02 - ¢ - ¢ — 1 - |.0002 i0.0002 : - i -
3lEPN iy | 0.004 - ¢ - ¢ — & - [<0.00004 i<0.00004 : - i -
47 rF Vv " 0.01 -+ - &+ - &+ - [0.0001 i0.0001 ¢ - i -
5|77 7 h—L I 0. 03 S e <0.0003 :€0.0003 : - i -
6|1V ¥HF A » | 0.005 -+ — v — &+~ [0.00005 <0.00005 F - 1 -
N=27wmr~ I 0.03 - 1 - 1+ - 1 - lo.0003 o0.0003 ; - 1 -
NEER 0.03 : : : <0.0003 1<0.0003 ! :

IH 7= A bu— I 0. 008 S e <0.00008 :<0.00008 : - i -
W|ALKRT 5 " 0. 005 e <0.00005 i<0.00005 ¢ - i -
1|7 are ) E= " 0. 003 -+ -+ - - |0.00003 :<0.00003F - 1 -
127 o w # o= (TPN) v | 0.05 - -+ — 7 — lo.0005 0.0005 @ - | -
13|27 = > (bew) " 0. 02 - - i = i = [c0.0002 i0.0002 ¢ - i -
14|27 v ~_=,L (DBM) " 0. 03 S e <0.0003 €0.0003 ¢ - i -
15|02k F o (ZFAFA A R ) 0. 004 : : : <0. 00004 1<0. 00004 ! :
16|> < > (CAT) | 0.003 -+ -+ — 7 — 0. 00003 <0.00003 1 - | -
17(2 A NV > ! 0.03 - ¢ - 1 - - [o.0003 0.0003 : - o -
18|77y | 0.003 - i - &+ - i+ - ]0.00003 <0.00003: - i -
19|F 7 5 " 0. 02 S e <0.0002 :<0.0002 : - i -
20|F AR LT " 0. 02 -+ -+ — - [o0.0002 10.0002 i - -
IV 0. 006 : : : <0. 00006 1<0. 00006 :
22| U 7 1 LR > (DEP) v | 0.005 - 1 - &+ - i+ - ]0.00005 <0.00005: - i -
23| NV 7T v I 0. 06 S e <0.0006 :<0.0006 : - i -
24|74 7= » | 0.0005 S T <0.000005:<0. 000005, - 1 -
25|7 = = k1 F 4> (MEP) y 0.01 - - - - [o.o0001 <0.0001 : - o -
26|7 = 7 7 7L 7 (BPMC) y 0.03 - - - - l0.0003 i0.0003 : - i -
27|77 = > 57> (wpP) 0. 006 ; ; : <0. 00006 i<0. 00006 : :
28|7 = > h=— I (PAP) 0.007 : : : <0. 00007 <0. 00007 ! :

207 % 3 k=% I 0.02 -+ -+ — v - Jw.0002 i0.0002 : - 1 -

30[7FLFTra—n v | 0.05 - -+ — 7 — lo.0005 0.0005 @ - | -

3|7 ) — " 0.03 - . - . - . - <0.0003 :<0.0003 - . -
27eEr7F R " 0.1 S e <0.001 €0.001 + - i -
33~ I " 0. 02 S e <0.0002 :<0.0002 : - i -
34| # =7 = » 7 (McpP) y 0. 05 - ¢ - - i - [c.0005 i<0.0005 : - i -
35| 2V 1 " 0.03 - 1 - 1 - - [o0.0003 i0.0003 : - o -
36| 2 & F A (DMTP) v | 0.004 - 1 - &+ - i+ - J0.00004 <0.00004: - i -
3NAZ7=F€ v b 4 0. 02 S e <0.0002 :€0.0002 : - i -

38l U x— K v | 0.005 -+ — v — &+~ [0.00005 <0.00005 F - 1 -

397 o FE L ROFEDOILEY I 0.02 - 1 - 1 - 7 = ]0.0002 0.0002 1<0.0002 0.0002

40| 7 o ROV DAL v | 0.002 - - = 1 = ]€0.0002 i€0.0002 i€0.0002 i<0.0002

41|= v TR OBZEDILEY " 0. 02 S e <0.001  <0.001 :<0.001 :<0.001
42|11, -V 7> " 0. 004 S T <0.0004 <0.0002 1<0.0002 :<0.0002
a3l =y I 0.4 - -+ — v = [0.002  0.0002 1<0.0002 i<0.0002

447 Z Y Q- F ~F L) y 0.08 — 1 — = v = J0.008 <0.008 1<0.008 <0.008

45|77 h=hFU L I 0.01 [<0.001 [<0.001 <0.001 :0.001 S e e

46lfuk s @ 7 —n I 0.02 [<0.002  [<0.002 i0.002 :<0.002 S e

4701, 1,1-r )V v 2 " 0.3 - - v — = o002 1€0.0002 1<0.0002 0. 0002

WBAFr-t-TFLE T I 0. 02 — 1 - = v = 0,002 1<0.0002 1<0.0002 <0.0002

9, 1-Y/omaxFLy y 0.1 -0 -t — v = 0,002 1€0.0002 1€0.0002 <0.0002




